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$ EE7000 Spring of 2003
% Homework 2 problem 8
% Dr. Hsiao-Chun Wu

N = 10:10:200;
var(length(N}))} = 0;
L = 2;

h randn{L+1,1);

]

MonteCarleo = 5000;
sweep = 0;
for i = 1 : length(N);
sweep = sweep + 1;
for trial = 1 : MonteCarlo
m = sign(randn (N (sweep),L+1)});
if rank(m.'*m)==L+1

n = randn({N{sweep),1l};
r = m*h + n;

ht = inv{m., "*m) *m."'*r;

var (sweep) = var{sweep) + 1/MonteCarlo * sum{{(h-ht)."2);
else

trial = trial - 1;
end;

end; % Monte Carle Trials
end; % sample size N loop

plot (N, var, 'c*'}

hold on;

plot (N, (L+1)./N, "go")

plot (N,var, 'r~")

plot (N, (L+1)./N,'g-")

hold off;

legend ("Empirical Variance','Theoretical Variance'); .
title('Variance of Channel Estimate versus Sample Size’)
xlabel ('Sample Size N')

ylabel {'Variance')
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